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Mesh size can be calculated from the MSD data. Equation 1 gives the relationship between the height of MSD at the plateau and the mesh size. (1)                  
Where MSD is the height of the plateau and a is the radius of the scattering particle, in this particular case it is 500 nm. In order to calculate the height of the plateau, one can use the Elasticity Index (EI), which is the reverse of the MSD at plateau and is calculated automatically by the software. The higher this index is, the higher is the sample’s elasticity. It is comparable to G’p, which is also related to the mesh size.
(2)                                
When combining the two equations, one obtain
(3)                             
Figure 5 shows the evolution of the Elasticity Index (EI) of the alkali-KGM sample as a function of time. Generally, its evolution is similar to that of the MVI. However, phase III. Started slightly earlier (77 minutes). It has to be noted, that the Elasticity Index should be considered only in phase III. and IV. as the sample is viscoelastic in these zones. At lower temperature, the sample is purely viscous.
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Figure 5 : Evolution of the Elasticity Index (EI) of the alkali-KGM sample during the experiment. 
It has to be noted, that the Elasticity Index should be considered only in phase III. and IV. as the sample is viscoelastic in these zones. At lower temperature, the sample is purely viscous. Therefore, mesh size is only calculated for phases III. and IV.
Figure 6 shows the calculated mesh size and the Elasticity Index as a function of temperature. As given by the equation (3), the EI and the mesh size are indirectly proportional, the mesh size decreased when Elasticity Index increased. This is logical, as the elasticity of a sample is related to its mesh size. The finer the mesh size, the more elastic is a sample. As it can be seen, the mesh size at 55°C is about 175 nm. This is more the mean space between the polymer clusters, which were forming. When the gel was formed at 66°C (86 minutes), the mesh size is 120 nm. This is the percolation point of the clusters, when a whole sample spinning network was observed for the first time. As the temperature increased, the gel got stronger, and a smaller mesh size is observed at 68°C (90 minutes). This is the minimum mesh size. The mesh size increased as the sample underwent restructuration by syneresis.     
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Figure 6 : Mesh size and Elasticity Index (EI) as a function of temperature. Mesh size decreases as EI increases as it is indirectly proportionally related. 
Mesh size calculation is not sensible for the pure KGM sample, as it is a purely viscous sample, and did not form a gel. In direct comparison of the Elasticity Index (EI) as a function of temperature (Figure 7), one can clearly see the differences between the gel forming alkali-KGM and the viscous pure KGM sample.  
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